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O gxz 2,850
o =4 Xt 500,000& = 30H& * 13 1,500
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500,000& « 2CH 1,000
o FUHHEE =22 & |REH RS>
225,000& = 2CH 450
o FUHEHE &I ¥ ¢dI] KXz
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O M=H 7 4,000& * 308 = 33 360
O 8%+ Hel ¢ HEHY 2 2
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O OIE =¥ ABTY YA 55 2
24,631,6208 * 14 24,632
O %9 A2F P (LHE, EUW)
990,000& * 14 990
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6,157,900& * 14 6,158
O EUWHEd +=38HZ 2H 22 ¢
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04 JI2ZtHIZ2 2 NEES 28,563 23,117 5,446
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OFS HIQMOHE MU PY AMIEHR LAY 5,800,000 333,333 5,466,667
= 1,740,000
Al 4,060,000
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O UHSHEH =2 AE3A
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O UHSHEHE =2 AE3A
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O DElEs 85+ HeAL 82 2 2
20,000,000 * 98.92/100 19,784
03 Al 2 THHI 216 216 0
O eHElgd A& MelAld 38 2 F
20,000,000& * 1.08/100 216
HEE MR =4 2 HA &=+ 50,000 0 50,000
401 Al HI K 201 I 50,000 0 50,000
01 A& HI 49,460 0 49,460
O BIEHEH ARA =& 28X
50,000,000& =* 98.92/100 49,460
03 AIE 2 THHI 540 0 540
O YEMEH MDY 24 2 =5 $4
50,000,000& * 1.08/100 540
FUHMHEE HAZEZZA 25,000 50,000 A 25,000
401 Al HI K 201 I 25,000 50,000 A 25,000
01 A& Bl 24,730 49,460 A24,730
O EUHHHEE HAZZ2HIA
5,000,000& * 98.92/100 24,730
03 A& 2 THHI 270 540 A270
O EUHHEE HAZZ2IA
25,000,000& * 1.08/100 270
FUHHEE 2= == HHAIE £ 101,750 100,990 760
101 @124l 1,750 990 760
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01 A& HI 248,200 0 248,200
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250,000,000% * 99.28/100 248,200
03 AIE S THHI 1,800 0 1,800
O EUHEH &= NRX &
250,000,000& = 0.72/100 1,800
FUHHEE HYEX MY 500,000 0 500,000
401 Al HIZ 201 I 500,000 0 500,000
01 A& HI 496,400 0 496,400
O EUHHEH HYEX e
500,000,000 * 99.28/100 496,400
03 AIE 2 THHI 3,600 0 3,600
O EUHHHEH BHYEX e
500,000,000% * 0.72/100 3,600
A2 (0 &2eln)(IIEH/DIIEH) 284,014 266,515 17,499
el 2l 73,935 61,957 11,978
ol 2| 73,935 61,957 11,978
101 @124l 73,935 61,957 11,978
01 2=+ 29,721 29,745 A24
O AMHYH el L SEFH 2Y 522
=g 29,721
o 55 88,4403 * 1% » 20 1,769
o 62 (Ils) 75,4273 * 4H * 20 6,035
o 72 68,1323 * 4% » 20 5,451
o 8=20Jls) 61,1673 = 28 = 20 2,447
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O BRAYE ANNA2R4Y 2= 10,643




2N

OH & & 22 D
MM HYM=2HAH| (N 222 2)(IIEH/DIE)
e BB EX CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o Z& 7,803 * 1€ x 30AI2F x 120HE 2,810
o =34 7,2522 x 3% x 30AI2F x 1204 7,833
O HAHE 522249 7,605
o A& 62,725€ * 1Y * 64 * 1/2 2,008
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Jl2 &4l 210,079 204,558 5,521
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O Y9 S HH A 33,700,000& * 14 33,700
O IlsH SHAN 3,500,000 = 14! 3,500
O SH sZHH A 18,403,000& = 14! 18,403
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112,047,0009 = 14! 112,047
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202 044l 12,316 9,604 2,712
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O Z2UWHHH =HH A 12,316,000& = 14 12,316
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